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Cluster: 0026 ptr; resid: 0.46; r/c: 38/52

x.range

upstream meme PSSM #1; e=480

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+04

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

10282

10304−10423_photosystem

16669

18715−18846_photosystem

27726

32095

32803

33610

36502

40588

40831

4303343154

43315

44045

45112

45536

45887 47285

47363

48087

48329
49112

49401

49596

49644

49751
49822

49849

4986650384

54757

55176
57223

70408−70518_photosystem

8875−8970_cytochrome

c18223−18095_cytochrome

c18970−18872_photosystem

−500 −400 −300 −200 −100 −1
10304−10423_photosystemNA
18715−18846_photosystemNA

57223NA
70408−70518_photosystemNA

8875−8970_cytochromeNA
c18223−18095_cytochromeNA

c18970−18872_photosystemNA
54757−0.02
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49644−0.12
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50384−0.35
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47285−0.53
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log10(P) upstream meme1 2 log10(P.clust)=−2.20; 38 seqs; 32 uniq
c(0.5, 2.5)
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